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Question No : 1

You notice that two wait events, Latch:cache buffer chains and Latch:cache buffer LRU
chains, appear consistently in the Top 5 Timed Events for your database.Which two
options describe what these wait events indicate? (Choose two.)

A. Latch:cache buffer LRU chains - indicates excessive block replacement

B. Latch:cache buffer LRU chains - indicates insufficient size of application cursor cache
C. Latch:cache buffer chains - indicates inefficient SQL that accesses many blocks
repeatedly

D. Latch:cache buffer chains - indicates that there are several sessions waiting for a buffer
that is presently being read into the buffer cache by another session

Answer: A,C

Question No : 2

You are working on an online transaction processing (OLTP) system. By day most of
theapplication users perform queries accessing the most recently added or modified rows.
The applications have most of the queries based on multiple tables. But at night, some
batch processing is also done. Which two actions would you recommend to choose a goal
for the optimizer based on the needs of your application? (Choose two.)

A. setting the OPTIMIZER_MODE parameter to ALL_ROWS at the instance level

B. setting the OPTIMIZER_MODE parameter to FIRST_ROWS _n at the instance level

C. asking the developer to add a hint /*ALL_ROWS?*/ in the long-running batch processing
gueries

D. asking the developer to add a hint /*FIRST_ROWS_n*/ in the long-running batch
processing queries

Answer: B,C

Question No : 3

You are a DBA in ABC Corp. You are working on a DSS system.. The applications directly
connect to the database to perform transactions. The application users also perform direct
loads. The company wants to upgrade from Oracle Database 10g version 10.2.0.1 to
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Oracle Database 11g. You want to test the performance of the SQL statements in the new
environment before upgrading the production database. To accomplish this, you set up the
test database with Oracle Database 119, with the same data and schemas as in
production.

What would you recommend to accomplish the task?

A. gathering all the SQL statements and using SQL Tuning Advisor on the test database
for performance analysis

B. capturing the workload on the production database, replaying it on the test machine, and
comparing the performance

C. creating a SQL Tuning Set by capturing the SQL workload on the production database
and using SQL Performance Analyzer for performance analysis

D. configuring AWR to capture the maximum number of SQL statements, transporting it to
the test system, and using SQL Access Advisor for performance analysis

Answer: C

Question No : 4

View Exhibitl and examine the indexes on the CUSTOMERS table.

S5QL> SELECT i.table name, column name, o.dbject name , o.object id, i.index type
FROM user objects o,
user indexes i,
user ind columns c
WHERE o.object_type= 'INDEX'
AND i.table name LIKE '%CUST%'
AND i.index name = o.object_ name
AND i.index name = c.index name
TABLE NAME COLUMN NAME OBJECT NAME OBJECT_ Il INDEX TYPE
CUSTCOMERS CUST_GENDER CUSTOMERS GENDER BIX 70685 BITMAP
CUSTCHMERS CUST MARITAL STATUS CUSTOMERS MARITAL EBIX T068€ BITMAP
CUSTOMERS CUST_ID CUSTOMERS PK 70473 NORMATL
CUSTCHMERS CUST_YEAR OF EIRTH CUSTOMERS YOE BIX 70687 BITMAP
CUSTCOHMERS COUNIRY_ID CUST_COUNTRY 79047 NORMAL

The statistics for the CUSTOMERS table have been updated recently by using the
following command:

SQL> EXEC
DBMS_STATS.GATHER_TABLE_STATS('SH',CUSTOMERS',method_opt=>"FOR ALL

INDEXED COLUMNS SIZE AUTOQO');

View Exhibit2 to examine a query plan. Even though the index is present on the
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COUNTRY_ID and CUST_GENDER columns, the query uses a full table scan. What could
be the reason?

SQL> SELECT i.table name, column name, o.object name , a.object _id, i.index type
FROM user objects o,
user indexes 1,
user ind columns c
WHERE o.object type= 'INDEX'
AND i.table name LIKE 'ZCUST%'
AND i.index name = o.object name
AND i.index name = c.index name
TAELE NAME COLUMN NAME CBJECT NAME OBJECT_IL INDEX TYFE
CUSTCHMERS CUST_GENDER CUSTOMERS GEWDER EIX TO6BE BITMAP
CUSTCOMERS COST MARTTAT. STATUS CUSTOMERS MARTTATL BIX T068€ BITMAP
CUSTCHMERS CUST_ID CUSTOMERS PK 70473 NOBMAL
CUSTCMERS CUST_YEAR OF EIRTH CUSTOMERS YCOE BIX 70687 BITMAF
CUSTCHMERS COUNTRY ID CUST_COUNTRY 79047 NORMAL

A. because the histogram statistics for the COUNTRY_ID column are not updated

B. because the DB_FILE_MULTIBLOCK_ READ_COUNT initialization parameter is set to a
high value

C. because the optimizer calculates the cost of accessing blocks by using a full table scan
to be less as compared to index scans, even though indexes are available

D. because indexes on CUST_GENDER and COUNTRY _ID columns are of different types,
the index on the CUST_GENDER column is bitmap index, and on COUNTRY_ID columns
is btree index.

Answer: C

Question No : 5

You are working on an online transaction processing (OLTP) system. You are investigating
the reasons for performance degradation in the database.

View the Exhibit named TOP5EVENTS and note the top five events.

Top o Timed Fareground Events

S ket | wats | Tmes) | Ava wart (ms) | % 05 time | waitGiss |

DB EPU SO0 5288

free buffer waits 18,517 158 11 | 16.72 |Configuration
db file 2ecuential read 4,348 775 148 i 15.48 |U=er VO

log file sync 1,482 19 12 2.00 |Commit

eng. KO - fazt object checkooint cs 12 256 1.52 |Application

www.ensurepass.com



Dumps with VCE and PDF (+Free VCE Software)

View the Exhibit named TOPSQL and note the problems related to these statements.

SQL ordered by Reads

# Total Disk Reads: 4,252 178
& Captured SOL account for §8.5% of Tot

 Physical Reads | Reads per Exec | %Total | CPU Time (s) | Elapsed Time (s) 5QL Module SQL Text

27228288 KX 33420572 9207 18130 | 229,65 [3gmaadvdnd3ce [SQL*Plus  |DECLARE CURSOR C2 IS SELECT..
3 109,989 | [ sez0] 182.28 228,23 [431mwhkyte5ibb |SQLPus SELECT SUMZWOU
= 128080 1.28] 152,04 22928 [gmizykm4g68th [SOLPlus  |DECLARE CURSOR
Mz | ez7e 18] 11.28 £0.7¢ [9a26airbdbmh_[SOL*Pis  [DECLARE max_records NU.. |
12258 | 358 141 %?;Ls' [ | SOL*Pus  |SELECT ORDER_ID FROM (SELECTO.. ||
111 2212 BEE 01| [ ed [SOL*Pus [DECLARE max_orders NUM...
13 25901 088 1828 | £118 [4491r26v70d  [SOL*Plis  |DECLARE new_order_id NUMBER(1
52/ s1850| o081 283 195 [7z52r0tbEwxmm [SOL*Pus |SELECT * FROM ORDER_TEMS
75z 2807 o050 .30 12.33 [0uSdmyxy318w0 [SQL*Plis  |SELECT SUM(AMOUNT_SOLD) TOTAL ... |
275z | 798| 043 208 2310 [21v0ddi14g7mk [SQL°Plis  |DELETE FROM ORDER_TEMS WHERE .. |

View the Exhibit named INSTACT and note the table scans.

Instance Activity Statistics

o Instance Activity Stats

o Instance Activity 5tats - Absolute Values

s Instance Activity Stats - Thread Activity

Back to Top
Instance Activity Stats

[ s | o ] persecons] perTrans

Batched 10 (bound} vectar count 0.03 | 0.00
|Batched 10 (full) vecter count j 1é . 0.03 0.00
Batched 10 block miss count [ 3,957 | 7.05 | 0.08
ltable =cans idirsct read) T 64| o 0.00|
ltable zcans (bng tables) [ 12-‘-f 0.22[ 0.00 :
table scans (short tables) ' 55,541 | 100,78 1.3z

Which is the most appropriate solution?

A. Create indexes on short tables.

B. Use the CACHE hint to access long tables.

C. Keep the long tables in the keep buffer pool.

D. Keep the short tables in the keep buffer pool.
E. Keep the short tables in the recycle buffer pool.

Answer: D
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Question No : 6

View the Exhibit and examine the content. ALLOCATED SPACE and FREE_SPACE are
not matching with the TABLESPACE_SIZE value. What would you conclude from this?

8QL> JELECT tablespace name, tabhlespace size, allocated space, free space FROM D

TAELE3IFPACE MNAME TAELEJFPACE 3TZE ALLOCATED S3PACE FREE 3FPACE
TEME_ L 157286400 144048128 157220864
TEME 105206176 105906176 u]

80L> JELECT (s.tot used blocks/f.total blocks)*100 as petused
2 FROM (3ELECT SUM(used_blocks) tot_used_blocks

FRCM VSSORT_SEGMENT

WHERE tahblespace name="TEMP L") =,

(SELECT SUM(blocks) total blocks

FRCOM DEA TEME FILESR

WHERE tahlespace namse="TEMP L") f;

S I SO B N

FCTUIED

A. A new temporary file is added to the tablespace.

B. The temporary space was not sufficient for sort operations.

C. The temporary space allocated to large sort operations is not deallocated.

D. TEMP_L is a default temporary tablespace because the numbers show some overhead
on this tablespace.

Answer: C

Question No : 7

Examine the SQL statement given below:

SQL> EXPLAIN PLAN for

SELECT department_name,count(*)

FROM hr.employees e, hr.departments d

WHERE e.department_id=d.department_id

GROUP BY d.department_name;

To view the execution plan for the statement, you queried plan_table. View the Exhibit and

examine the execution plan.Which two statements are true about the execution plan?
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(Choose two.)

SQL> SELECT id "id",parent_id "par", position "pes",
lpad(' ',2+%level) | |operation| |decode(id,0, 'cost="||POSITION) "operation",
options "option", object_name "object", cbject node "table gueue",
other_tag "parllel oper type", distribution "row dist",other "slave SQL"

FROM plan table

CONNECT by prior id=parent_ id START WITH id=0

ORDER BY id

id par pos operation option object table gueun parllel oper type row dist slave SQL

4  SELECT STATEMENTecost=4

1 HASH GROUP BY

1 NESTED LOOES

1 TABLE ACCESS FULL DEPARTMENTS

2 IHDEX RANGE SCAN EMP_DEPARTHME
NT_IX

A. The execution plan is displayed for the executed SQL statement.
B. The EXPLAIN PLAN command does not actually execute the statement.
C. The row with the id column having a value of 4 is the first step executed in the execution

plan.
D. The row with the id column having a value of O is the first step executed in the execution

plan.

Answer: B,C

Question No : 8

In which two scenarios would you recommend using RAID level 5 as an option for
database storage?(Choose two.)

A. For a database with lower recovery (MTTR) overhead

B. For a database in which the applications primarily perform read operations and
predominantly sequential 1/0 is performed

C. For a database in which performance is the primary goal of the database because
applications are demanding in terms of I/O operations

D. For a database in which the database size grows rapidly, the cost of storage is critical
and data accessibility is more important than performance

Answer: B,D

Question No : 9

View the Exhibit exhibitl to examine the series of SQL commands and parameter settings.
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5QL> 5S5HOW PARAMETER OPTIMIZER

MAME TYPE VALUE
optimizer_capture_sql_plan_baselines boolean TRUE
optimizer_dynamic_sampling integer 2
optimizer_features_enable string 11.1.0.6
optimizer_index_cachin integer 0
optimizer_index_cost_adj integer 100
optimizer_mode string ALL_ROWS
optimizer_secure_view_merging boolean TRUE
optimizer_use_invisible_indexes boolean FALSE
optimizer_use_pending_statistics boolean FALSE
optimizer_uze_sgl_plan_baselines boolean TRUE

SQL> SELECT ®* FROM sh.sales WHERE guantity_sold = 40 ORDER BY prod_id;
SQL> SELECT * FROM sh.sales WHERE quantity_sold > 40 ORDER 3Y prod_id;
SOL> ALTER SESSION SET OPTIMIZER_MODE=FIRST_ROWS;

SQL> SELECT * FROM sh.sales WHERE quantity_sold > 40 ORDER BY prod_id;

View the Exhibit exhibit2 to examine the plans available in the SQL plan baseline.

éelect l'l_a‘me v SQL Text IEnabledIAcceptedIF‘n(Ed'Autﬂ Purgelcreatedllast Modified

[0 |s¥s SoL PLAN 89447021cf314ede ir. employees vihere YES YES NO  ¥ES Jul 20, 3yl 20, 2008
2008 7:16:48 PM

YES NO NO  ¥ES w20, 3yl 20, 2008
2008 7:20:43 PM

IE YES YES NO  ¥ES 21, gyl 21, 2008
PLUS SHOW PARAM.DECODE 2008 2:40:44 PM

[ |sYs SOL PLAN 4698b35ddf463620 select * from table{dbms xplan.display  YES YES NO  YES Jul20, 3yl 20, 2008
1l 2008 7:04:22 PM

YES YES NO  ¥ES ul 21, 3y 21, 2008
008 2:25:42 PM

YES NO YES Y5 ul21, |3yl 21, 2008
2008 2:41:56 PM

The first plan (in red) is created when OPTIMIZER_MODE is set to ALL_ROWS and the
second plan (in blue) is created when OPTIMIZER_MODE is set to FIRST_ROWS.Which
SQL plan baseline would be used if the SQL query in exhibitl is executed again when the
value of OPTIMIZER_MODE is set to FIRST_ROWS?

A. the second plan, because it is a fixed plan

B. the first plan, because it is an accepted plan

C. the second plan, because it is the latest generated plan in FIRST_ROW mode

D. A new plan, because the second plan in FIRST_ROW mode is not an accepted plan

Answer: B

Question No : 10
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As part of a proactive tuning activity, you have the Automatic Workload Repository (AWR)
and ADDM enabled for your database with the default setting of snapshot retention as 8
days and snapshot interval as 60 minutes.Which performance issue does NOT appear in
the ADDM and needs alternative tools for investigation?

A. suboptimal parameter settings

B. application-level block contention

C. performance issues related to the Resource Manager

D. short-lived or intermittent performance issues lasting for less than 5 minutes

Answer: D

Question No : 11

View the Exhibit and analyze the output of a query executed on the
VSMEMORY_RESIZE_OPS view. Why do INITIAL_SIZE, TARGET_SIZE, and
FINAL_SIZE columns have the value zero for some of the components?

FQL> ZELECT component, oper type, oper mode, initial size, target_size, final size, status
2 FRON vimemory resize ops:

COMPONENT OPER_TYPE OFPER_MODE INITIAL SIZE TARGET SIZE FINAL SIZE STATUS

shared pool STATIC u} 14z606336 142606336 COMPLETE
large pool STATIC u] 4194304 4194304 COMPLETE
A3M Buffer Cache STATIC u} u] 0o COMPLETE
Jjawa pool STATIC u] 125825912 12552912 COMPLETE
streams pool STATIC a u] 0 COMPLETE
3GA Target STATIC u} 192937954 192937954 COMPLETE
DEFAULT huffer cache STATIC o 18777216 16777216 COMPLETE
KEEF buffer cache STATIC u] 8388608 83886058 COMPLETE
RECYTCLE huffer cache STATIC u} o 0 COMPLETE
DEFAULT ZK buffer cache STATIC u] u] 0o COMPLETE
DEFAULT 4K buffer cache STATIC o u] 0o COMPLETE
DEFAULT SE buffer cache STATIC u} u] 0o COMPLETE
DEFAULT 16K buffer cache 3TATIC u] a 0 COMPLETE
DEFAULT 32K buffer cache 3STATIC u] u] 0o COMPLETE
Shared IC Pool STATIC u] u] 0o COMPLETE
PGA Target STATIC u} 192937954 192937934 COMPLETE
Jjawa pool SHRINE DEFERRED 1z558z291z2 83886008 835886058 COMPLETE
DEFAULT huffer cache GROW DEFERRED 16777216 20971520 20971520 COMPLETE

1% rows selected.

A. because they are the only components that are auto-tuned

B. because they are the only components that are not auto-tuned

C. because they are the only components that have not undergone any manual resizing

D. because they are the only components that do not have a default size or their respective
parameters are not set in the initialization parameter file

Answer: D
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Question No : 12

You work as a consultant DBA for various clients. A performance issue in one of the online
transaction processing (OLTP) systems is reported to you and you received the Automatic
Workload Repository (AWR) report generated in the database. The main sections of the
AWRreport is shown in the Exhibits.

View the Exhibit named DBTIME and note % DB Time.

Top & Timed Foreground Events

Avg et (ms)| % 0 time | Wat Cass
[ 00

DB CPU 108 5
0

[ R Y

i |

[y

db file ssquential read 315

= 0| 52 [User IO
|latch: =hared pool 1:EEF 0 0 0.21 |Concurrency
\db file pﬂrﬂi|E| read 188 0 1 .' 0.16 [User VO
E-n::nntrclfile zequential read | 3,535 0 0 0.05 |System FO

View the Exhibit named TIMEMODEL and note what has contributed to % DB Time.

Time Model Statistics

® Totaltime in databazs user-callz (0B Timel: 112,88

# Statizticz including the wword "background meazurs bBackground process time, and 20 do not contributs te the DB time ztatiztic

s Ordersd by % or DB tims dezc, Statistic name

Statistic Name % of DB Time |

|29l executs elapsed time 1‘-1 i.‘—1 Ei"F.EIE
[oB crU 10728 54.00
jparaetim&lelanaed , &5.03 7408
\hara parse elapsed time ?B.FE 64,05
[PLZQL execution slapzed time 523 =08
PL'SAL compilation elapzed time ] 2.20 1.52 |
hard parze (sharing criteria) lapzed tims. Déé 0ial
:bonn&ction managemsnt call &I-apzed time 0.4z D.38
|hard parze (bind mizmatch} Eiépaeci time ' BE? | 024
:aequ&ncs load elapzed time } 0.08 0.05
!rsp::—atéd bind ElﬂpES;j time ' u."uz U.Ei1
DB time [ 11483

|background slapzed tims ' Z.Eﬁ

|Background cpu tims f D85

View the Exhibit named EFFICIENCY and examine the various percentages shown.
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Instance Efficiency Percentages (Target 100%)

Buffer Mowait %: 100.00 |[Redo NeWait %: 100.00
Buffer Hit %&: 14,48 |In-msmary Sort %: 100.00
Librarv Hit % 65.42 |Soft Parse % 3481
Executs to Parze %: 3.01 |Latch Hit %: 99 .95
Parze CPU to Parse Elapsd % 0 % Mon-Parse CPU: 2454

Which option describes the correct understanding of the main problem?

A. The Exhibit DBTIME shows that the DB CPU event consumed very high % DB Time,
which indicates that the CPU is very slow.

B. sgl execute elapsed time and parse time elapsed are consuming very high % DB Time
in the TIMEMODEL Exhibit. This indicates too many soft parses.

C. hard parse elapsed time has the majority time in parse time elapsed, which is shown in
the TIMEMODEL Exhibit. This indicates inadequate database buffer cache.

D. % Non-Parse CPU: and Soft Parse %: are low in the EFFICIENCY Exhibit, which shows
that very few statements are found in the cache. This indicates that there were too many
hard parses.

Answer: D

Question No : 13

You are working on an online transaction processing (OLTP) system. The middle-tier
applications use connection pooling to connect to the database. Presently, you have a
single-node database. The company plans to migrate the database to a RAC environment.
Before you move to a RAC environment, you want to test the performance of the SQL
statements and the peak workload on the new environment. To accomplish the Database
Capture for replay, you identified the peak workload period on the existing system and
started the Database Capture. Which client requests to the database can be captured as
part of the workload capture? (Choose all that apply.)

A. flashback query

B. distributed transactions

C. logging in and logging out of sessions

D. all DDL statements having bind variables
E. direct path load of data from external files

Answer: C,D
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Question No : 14

View the Exhibit and examine the content of the VSMEMORY_RESIZE_OPS view.Which
two conclusions can you draw? (Choose two.)

COMPOMENT OFPER_TYPE OPER_MODE INITIAL SIZE TARGET SIZE FINAL SIZE STATUS

A3HM Buffer Cache STATIC u] u] 0 COMPLETE
PGL Target STATIC u] 1858743680 1887436830 COMPLETE
Shared IO Fool STATIC u] u] 0 COMPLETE
DEFAULT 32K buffer cache STATIC u] u] 0 COMPLETE
DEFAULT 16K buffer cache 3TATIC u] u] 0 COMPLETE
DEFAULT SK buffer cache STATIC [u] u] 0 COMPLETE
shared pool STATIC u] 146500640 146500640 COMPLETE
large pool STATIC a 4194304 4194304 COMPLETE
Jawva pool STATIC u] 1258291z 12582912 COMPLETE
streams pool STATIC u] u] 0 COMPLETE
S5GL Target STATIC u] 1858743680 1857436580 COMPLETE
DEFAULT buffer cache STATIC u] S355605 §355605 COMPLETE
KEEP buffer cache STATIC u] 8388608 8388608 COMPLETE
RECYCLE buffer cache STATIC u] u] 0 COMPLETE
DEFAULT ZE buffer cache STATIC u] u] 0 COMPLETE
DEFAULT 4K buffer cache STATIC u] u] 0 COMPLETE
shared pool GROW IMMEDIATE 145500640 150994944 150994944 PENDING
5GL Target GROW IMMEDIATE 155743650 192937954 192937954 COMPLETE
PGA Target SHRINK IMMEDIATE 188743680 134549376 184549376 COMNPLETE
DEFAULT buffer cache GROW DEFERRELD G3585605 1258291z 12552912 COMPLETE
shared pool SHRINKE DEFERRED 150994944 146500640 146500640 COMPLETE
DEFAULT buffer cache SHRINE MANTAL 125582912 5388608 S§38586058 COMPLETE
large pool GROW MANTLL 4194304 5358608 5358608 COMPLETE

A. Automatic Memory Management (AMM) is enabled.

B. Automatic Shared Memory Management (ASMM) is enabled but not AMM.

C. The Shared Pool grew in IMMEDIATE mode to avoid an out-of-memory error.

D. The Default Buffer Cache grew in DEFERRED mode to avoid an out-of-memory error.

E. The memory is transferred in IMMEDIATE mode only if there are entirely empty granules
available in other components.

Answer: A,C

Question No : 15

You work as a DBA for a company and as a performance improvement measure, you
implemented the result cache in your database. Many users in the company say that
performance has improved on the queries they use, but some users complain that they
have not got any performance benefiton the queries they use.

You checked all the queries they use and the following is one of them:
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SQL> SELECT /*+ RESULT_CACHE */ slnog.currval as "SLNO", prod_id, pdname, 2
cust_name FROM sales WHERE s|_date < sysdate;

View the Exhibit and examine the testing performed to check this.

S0L> EXECUTE DEMS RESULT CACHE.FLUSH;

PL/30L procedure successfully completed.

S0L> EXECUTE DEM3 RESULT CACHE.MEMORY REPORT;
RBesult Cache Memory Report
[Farameters]

Block Size

Maxiwuw Cache Size

1K hytes
1376K bytes (1376 hlocks)
68K bytes (68 blocks)

Maximum Result Size
[Memorv]
Total Memory = 5132 bytes [0.004% of the Shared Pool]
. Fixed Memory = 5132 bytes [0.004% of the Shared Pool]
. Dynamic Mewory = 0 hytes [0.000% of the Shared Pool]

PL/30L procedure successfully completed.

I0L> SELECT / %+ REZULT_ CACHE #f =lnog.currval as "SLNOT, prod id, pdname, cust name
2 FRCOM sales
3 WHERE sl date < sysdate:

SQL> EXECUTE DEMS_RESULT CACHE.MEMORY REPORT;
Result Cache Mewmwmory Report
[Parameters]

Block Size

Maximum Cache Size

1K hvytes
1378K bytes (1376 hlocks)
68K bytes (68 bhlocks)

Maximum Result Size
[Memory]
Total Memory = 5132 bytes [0.004% of the Shared Pool]
. FPixed Memory = 5132 khytes [0.004% of the Shared Pool]
. Dynamic Memorvy = 0 bytes [0.000% of the Shared Pool]

Why is the result cache not used? (Choose all that apply.)

A. because the query uses SYSDATE

B. because the query uses an alias for a column

C. because the query uses the SLNOQ.CURRVAL sequence

D. because the table might have an index on the SL_DATE column

Answer: A,C

Question No : 16

Identify the reason why chained or migrated rows in a table cause performance
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degradation when you access them.

A. because the ROWID changes for these rows

B. because these rows make existing indexes invalid

C. because it is not possible to use indexes to retrieve these rows

D. because retrieving these rows requires more than one data block to be accessed
E. because the rows force queries to use temporary segments while retrieving them

Answer: D

Question No : 17

Which three statements are true about performance analysis by SQL Performance
Analyzer? (Choose three.)

A. It detects changes in SQL execution plans.

B. It shows only the overall impact on workload.

C. It produces results that can be used to create the SQL plan baseline.

D. It generates recommendations to run SQL Tuning Advisor to tune regressed SQL
statements.

E. The importance of SQL statements to be analyzed is based on the size of the objects
accessed.

Answer: A,C,D

Question No : 18

During a proactive database performance monitoring routine, on examining the AWR report
you find that log file sync appears among the top 5 wait events.What does this event
indicate?

A. Frequent logfile switches are occurring.

B. Redo is generated faster than LGWR can write it out.

C. Frequent commits or rollbacks are taking place in the application.
D. Frequent incremental checkpoints are taking place in the database.

Answer: C
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Question No : 19

You are asked to implement Automatic Memory Management (AMM) and you added two
initialization parameters to do this. The following are the some of the parameter settings:

MEMORY_MAX_TARGET=600M
SGA_MAX_SIZE=500M
MEMORY_TARGET=600M
OPEN_CURSORS=300
SGA_TARGET=300M
PROCESSES=150
STATASTICS_LEVEL=BASIC
PGA_AGGREGATE_TARGET=0

When you tried to start the database instance with these parameter settings, you received
the following error:

SQL> startup

ORA-00824: cannot set SGA_TARGET or MEMORY_TARGET due to existing internal
settings, see alert log for more information

You modified the parameter settings as shown below and the database instance started
successfully.

MEMORY_MAX_TARGET=600M
SGA_MAX_SIZE=400M
MEMORY_TARGET=550M
OPEN_CURSORS=400
SGA_TARGET=300M
PROCESSES=200
STATASTICS_LEVEL=TYPICAL
PGA_AGGREGATE_TARGET=100M

Analyze the parameter settings and identify why the instance failed to start the first time?
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A. because the STATISTICS_LEVEL parameter was set to BASIC

B. because the PGA_AGGREGATE_TARGET parameter was set to zero

C. because both the SGA_TARGET and MEMORY_TARGET parameters were set

D. because MEMORY_TARGET and MEMORY_MAX_TARGET parameters were equal
E. because the PROCESSES parameter was set to a value less than the minimum
required

Answer: A

Question No : 20

The database application developers are planning to make some major schema changes
such as creating new indexes and materialized views. They want to check the net impact of
these changes on the workload performance. This activity has to be performed in the
production database, so they want only the query part of the data manipulation language
(DML) statements to be executed so that the side effects to the database or user data can
be prevented. What should they use to achieve this?

A. Database Replay

B. SQL Tuning Advisor

C. SQL Access Advisor

D. SQL Performance Analyzer

Answer: D

Question No : 21

View the Exhibit and analyze a portion of the Active Session History (ASH) report marked
with a red rectangle.Which two can be inferred from the output? (Choose two.)
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Activity Over Time

Analyziz period iz divided into smaller time slotz

Top 3 events are reported in each of tho=e slotz

‘Zlot Count’ zhows the number of ASH samples in that =lot

‘Event Count’ =hows the number of ASH samples waiting for that event in that slot
"% Event’ iz "Event Count’ over all ASH =amples in the analysiz period

Slot Time (Duration) | Slot Count Event Count

17:13:00 (1.0 min} & |CPU = Wait for CPU
1?:14:I]I} (1 .I} mln} 534 t:-uffer busy wa’rts. . 590 24.5?
' CPU + Wait for CPU | 32| 134
Iug file: s*,rnn: T 0.29
17 15:00 (1.0 min} 1,752 |buffer busy waits 1,623 ' 67.85
' \CPU + Watt for CPU | &1 255
cursor: pin S 46 1.92

. increase in the number of active sessions

. unable to grow the database buffer cache as per demand

. increase in number of COMMITS and ROLLBACKS per second

. increase in the number of processes waiting for the buffer busy wait event

OO w>

Answer: A,D

Question No : 22

Which two symptoms related to the database buffer cache together indicate that there are
many full table scans happening? (Choose two.)

A. too many buffer busy waits

B. very low buffer cache-hit ratio

C. very high buffer cache-hit ratio

D. many waits on the db file scattered read event

Answer: B,D

Question No : 23
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Your database supports many applications running on the middle tier. Many applications
users create jobs for which you want to statistically measure workload as a part of
performance management.What would you do to accomplish the task?

A. Assign resource consumer group to jobs while creating the jobs.

B. Create services for the applications and create jobs by using the DBMS_JOBS PL/SQL
package.

C. Query V$SESSION to gather statistics of the individual sessions for the workload
created by the jobs.

D. Create services for the applications, create job class associated with the service, and
then create jobs by using the job classes.

Answer: D

Question No : 24

View the Exhibit that shows your investigation on degraded performance.What would you
do? (Choose all that apply.)

8QL> SELECT event, total waits, total timeouts, time waited, average wait
2 FROM vSsystem_event
3 WHERE ewvent="buffer busy waits";

EVENT TOTAT, WATTS TOTAL TIMEQUTS TIME WATTED AVERAGE WATT

buffer busy waits E36328 1537 342700 LBB3551232

80L> SELECT * FROM wvSwaltstat WHERE class="segment header’;

A. Shrink the temporary segment.

B. Keep the large tables in the KEEP pool.

C. Use free list groups wherever applicable.

D. Increase the value set to the PGA_AGGREGATE_TARGET parameter.
E. Switch the segments to Automatic Segment Space Management (ASSM).

Answer: C,E

Question No : 25
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You are working as a DBA for a DSS system, on which applications primarily perform large
sequential 1/0Os. The company wants to upgrade the storage used by the database to faster
hard disks. What other factors would you consider before giving the go-ahead for the new
hard disks? (Choose all that apply.)

A. the sizing of PGA to meet the faster data access

B. the sizing of buffer cache to meet the faster data access

C. the time it takes for a submitted I/O request to be serviced by the storage
D. the capacity of the 1/0 channel that connects the server to the storage array

Answer: C,D

Question No : 26

The OPTIMIZER_CAPTURE_SQL_PLAN_BASELINES parameter is set to TRUE for a
24x7 database instance. The space consumption has significantly increased by the
automaticallycaptured plan baselines. You are suggested to run the following block:

BEGIN
dbms_spm.configure((SPACE_BUDGET_PERCENT", 30);
END;

After a few weeks of work, you observe warnings on exceeding space usage by SQL
Management Base (SMB) in alert log file. Which two actions can be solutions for this?
(Choose two.)

A. increasing the AWR retention period

B. purging the older SQL management objects
C. increasing the size of the SYSTEM tablespace
D. increasing the size of the SYSAUX tablespace

Answer: B,D

Question No : 27

Identify the type of recommendation that can automatically be implemented by the
Automatic Tuning Advisor as part of automatic SQL tuning task?
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A. recommendation for SQL profiles

B. recommendation about effective indexing

C. recommendation about stale or no statistics

D. recommendation about the structure of SQL statements

Answer: A

Question No : 28

A user in a session executed the following SQL statement to set the optimizer mode:
ALTER SESSION SET OPTIMIZER_MODE = ALL_ROWS

What impact would it have on the goal of the optimizer for that session? (Choose all that
apply.)

A. Statement level OPTIMIZER_MODE hints take precedence over the session-level
setting.

B. The OPTIMIZER_MODE parameter set at instance level takes precedence over the
session-level value.

C. The optimizer uses a cost-based approach, regardless of the presence of statistics; it
optimizes with a goal of best response time.

D. The optimizer uses a cost-based approach for all SQL statements in the session,
regardless of the presence of statistics; it optimizes with a goal of best throughput.

Answer: A,D

Question No : 29

View the Exhibit and examine the content of the V$SGA RESIZE_OPS view.
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COMPONENT OFPER_TYPE OFPER_MODE INITIAL 3IZE TARGET SIZE FIMAL 3IZE STATUI

A3M Buffer Cache STATIC [u] u] 0 COMPLETE
RECYCLE khuffer cache STATIC u] o 0O COMPLETE
KEEF buffer cache STATIC u] G35586008 538586058 COMFLETE
shared pool 3TATIC a 146500640 146500640 COMPLETE
large pool STATIC [u] 4194304 4194304 COMPLETE
Jawva pool STATIC u] 12582922 12582912 COMPLETE
streams pool STATIC o 1] 0 COMPLETE
Shared IO Pool STATIC a a 0 COMPLETE
DEFAULT buffer cache STATIC u] 8388608 8388608 COMPLETE
DEFAULT ZK buffer cache STATIC u] o 0 COMPLETE
DEFAULT 4K buffer cache STATIC u] o 0 COMPLETE
DEFAULT 8K buffer cache STATIC [u] u] 0 COMPLETE
DEFAULT 16K buffer cache 3TATIC u] o 0O COMPLETE
DEFAULT 3ZK buffer cache 3TATIC u] o 0 COMPLETE
shared pool GROW IMMEDIATE 146500640 1505545944 150994944 PENDING
DEFAULT bhuffer cache GROW DEFEREED 8388608 12582922 12582912 COMPLETE
shared pool SHRINE DEFEREED 1509594944 146500640 146500640 COMPLETE

The Shared Pool was shrunk when the Default Buffer Cache required more memory. Why
did the Java Pool not shrink when the Default Buffer Cache grew?

A. because it is not an auto-tuned component

B. because it uses memory available outside the total SGA size

C. because it always requires three granules and cannot be reduced

D. because it has less free memory than the Database Buffer Cache

E. because it cannot be shrunk below the value set to the JAVA_POOL_SIZE parameter

Answer: E

Question No : 30

You work as a consultant DBA for various clients. A performance issue in one of the online
transaction processing (OLTP) systems is reported to you and you received the Automatic
Workload Repository (AWR) report generated in the database. The main sections of the
AWR report are shown in the Exhibits.

View the Exhibit named DBTIME and note % DB Time.

Top & Timed Foreground Events

T bvent | wats | Timets) | Avg weitma) Weit Class
DB CPU 108 G200

: 82 [User 10

db file sequential read 315308 = 0 45

|latch: =hared pool 1,227 0 0 0.41 |Concurrency
db file parallel read 185 0 1 .15 |U=er VO
control file zequential read | 3,535 0 0 0.05 |System FO
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View the Exhibit named TIMEMODEL and note what has contributed to % DB Time.

Time Model Statistics

Itims in datakaze uzer-callz (0B Tims:: 11282

sord “background meazure background grocezs time, and 2e 4o not contributs to the OB time statiztic

B tims de=c. Statistic nams

Statistic Name % of DB Time

12ql execute elapzed tims 111.41 97.02
DB CRU 107.95 54.00
parse time elanzed &5.03 7a.ns
|haro parse elapsed time -"-3.:'5 64,05
|PLSQL execution slapeed time 5,08 5.08
PL/SQL compilation slapzsd tims 2.20 1.92
hard parze (zharing criteria) elapsed timel 0.45 0040
connection management call elapzed time 0.24 0.38
hard parze (bind mizmatch} siapesd time . 0.27 0.24
zeguence load elapzed time 0.08 0.05
|repeated bind elap=sed time ' 0.02 o.M
DB time 114.23

0

K

background elapzed time

W | oW
i

(=TI

|kackground cpu time

View the Exhibit named EFFICIENCY and examine the various percentages shown.

Instance Efficiency Percentages (Target 100%)

Buffer Nowait %: 100.00 [Redo NeWait %: 100.00
-.Ei..fffr Hit %: 14,48 (In-msmory Sort B 100.00
Lit:rar\ert.‘r'a: 68.42 [Soft Parse % 34.91
Executs to Parze %: 3.01 |Latch Hit %: 599.95
Parse CPU to Parse Elapsd %: 001 [% Non-Parse CPU: 3464

Identify the option that has the correct answers for the questions given below:

1) Which factor indicates the main problem?

2) What is the main problem?

3) What solution would you recommend?

A. 1) The Exhibit DBTIME shows that the DB CPU event consumed very high % DB Time.
2) The CPU is very slow.

3) Increase the number of processors.

B. 1) hard parse elapsed time has the majority time in parse time elapsed, which is shown

in the TIMEMODEL Exhibit.
2) This is due to inadequate Database Buffer Cache.
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3) Increase the size of database buffer cache.

C. 1) sqgl execute elapsed time and parse time elapsed are consuming very high % DB
Time in the TIMEMODEL Exhibit.

2) There are too many soft parses.

3) Investigate the HOLD CURSOR parameter setting in the application and set it
appropriately.

D. 1) % Non-Parse CPU is low and Soft Parse % is also low in the EFFICIENCY Exhibit.
This shows that very few statements are found in the cache.

2) There are too many hard parses.

3) Investigate the CURSOR_SHARING parameter setting and set it appropriately.

Answer: D

Question No : 31

You identified poorly performing SQL by analyzing the V$SQL and V$SQLSTATS views.
You want to investigate the plans for these SQL statements.Which two methods can you
use to pull out the execution plan from the library cache for the already executed SQL?
(Choose two.)

A. Query V$SQL_PLAN to view the execution plan.

B. Query DBA_HIST_SQL_PLAN to view the execution plan.

C. Copy and paste the SQL text from the V$SQL view and use EXPLAIN PLAN to generate
theexecution plan.

D. Use the dbms_xplan.display_cursor function with the SQL ID and child number to
generate the execution plan.

Answer: A,D

Question No : 32

You observed very low cache-hit ratio in your database as shown below:
SQL> SELECT (1-((phy.value-phyd.value) / (cur.value + con.value))) * 100
2 "Cache Hit ratio"

3 FROM v$sysstat cur, v$sysstat con, v$sysstat phy, vesysstat phyd

4 WHERE cur.name = 'db block gets'
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5 AND con.name = 'consistent gets'
6 AND phy.name = 'physical reads’
7 AND phyd.name = 'physical reads direct’;
Cache Hit Ratio
68.43

After further investigation, you decided to increase the database buffer cache size. You are
using the

Buffer Cache Advisor to check the appropriate size for the buffer cache.
View the Exhibit and examine the graph shown by the advisory.

What can you infer from the graph?
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I8 = AR = dilaye H = ] = = AL = k]

&  https:f{10.150.21.251:1158/em/console/database/instance/: | 'i’;f! Certificate Error

Buffer Cache Size Advice
?

1.5 \

b

0.5 \

KE
i i i i i f f
2 4 B 8 10 12 14 16 18

Cache 5ize (ME)
= _hange in physical readsz for various cache sizes

Current cache zize
- EMNL LaLiie »lze

Relative change in physical reads

Cache Size (MB) 8
& TIP You can click on the curve in the graph to set new value.

| Cancel ] | OK )

€0 Internet E100% v

A. The buffer cache size can be set to 12 MB for optimal performance.

B. The buffer cache size can be set to more than 16 MB to get more benefit.

C. The buffer cache size can be set to more than 16 MB but there would be no benefit from
it.

D. The buffer cache size cannot be set to more than 16 MB because the SGA_MAX_SIZE
value does not allow that.

Answer: B

Question No : 33
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Examine the output of the following query:
SQL> SELECT c.name,a.addr,a.gets,a.misses,a.sleeps,
2 a.immediate_gets,a.immediate_misses,b.pid
3 FROM v$latch a, v$latchholder b, v$latchname ¢
4 WHERE a.addr = b.laddr(+) and a.latch# = c.latch#
5 AND c.name LIKE '&latch_name%' ORDER BY a.latch#;
LATCH NAME ADDR GETS MISSES SLEEPS IMMEDIATE_GETS IMMEDIATE_MISSES
shared pool 20016544 8520540 14112 313700
Which two conclusions can you draw from this? (Choose two.)
A. The latch was requested in ho wait mode.
B. The latch was requested in willing-to-wait mode.
C. The shared pool operations to allocate and free memory in it caused the misses.

D. Automatic Memory Management is not enabled because the IMMEDIATE_GETS and
IMMEDIATE_MISSES columns have zero in them.

Answer: B,C

Question No : 34

You identified poorly performing SQL statements that use bind variables. You want to
examine the execution plans for the most recently executed statements for further
diagnosis. Which method would you recommend to view the execution plans?

A. SQL*Plus Autotrace

B. the dbms.xplan package

C. EXPLAIN PLAN for SQL statements

D. the SQL trace utility to generate trace files and read the formatted output using the
tkprof utility

Answer: B
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Question No : 35

You queried V3SYSTEM_EVENT in your online transaction processing (OLTP)
environment to check the following wait events:

Event Total Seconds Total Average Wait

Name Waits Waiting Timeouts (in secs)

direct path read temp 18,274 11,312 16,282 .619

direct path write temp 3,251 416 25 .127

What do these wait events indicate?

A. The DBWn processes are not creating free buffers fast enough.
B. The buffer cache is too small and block replacement is excessive.

C. The aggressive checkpointing policy is causing too many writes to disk.
D. The work areas are too large to fit in memory and are, therefore, written to disk.

Answer: D

Question No : 36

You observed in your database that the queries formerly executed in 5 seconds now take
longer time.View the Exhibit and analyze the output of the query that you executed to find
the problem.Which is the primary concern?
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30L> SELECT name, valuse FROM vwisysstat WHERE name like "$table$’;

NAME VALUE
physical reads direct temporary tablespace 502
physical writes direct temporary tablespace 491
DEWR tablespace checkpoint buffers written 18
DEWE. transaction table writes B89
transaction tables consistent reads - undo records applied 0
transaction tables consistent read rollbacks ]
auto extends on undo tablespace ]
table scans (short tabhles) 10782
table scans (long tables) 75
table scans (rowid ranges) u]
table scans (cache partitions) ]
table scans (direct read) 32
table scan rows gotten 1083294z
table scan hlocks gotten 227752
table fetch by rowid 220813
table fetch continued row 13z046
table lookup prefetsh client count o]
LOE takle 1d lookup cache misses 0

18 rows selected.

A. the number of disk sorts

B. the number of full table scans

C. the number of chained and migrated rows
D. the number of rows fetched based on rowid

Answer: C

Question No : 37

View the Exhibit and examine the query based on the DBA_THRESHOLDS view and its
partial output :

Which observation about the output is correct?

9QL>JELECT metrics name,warning operator OPR,
warning value WARN VAL, chservation period OES_PER,
cnnsecutive_occurrences COoNa_ QCc, oh] ect type OBJ _TYFPE,
ohject name OBJ_NAME

FROM dba thresholds;

METRICE _MNAME OFR WARN_¥aAL OBS_PER CONS_OCC OBI_TYFE OBI_MNAME
Average Users Waiting Counts  GT 30 1 3 EVENT CLASE Comnit
Blocked User Session Count GT 1] 1 15 ZE3SION

Diatabase Time Spent Waiting (%0 GT 30 1 3 EVENT CLABE Concutrency
Logons Fer Sec GE 100 1 2 SVETEM

A. Logons Per Sec triggers an alert when the number of users logging on in an interval of
one second is equal to or greater than 100.
B. Blocked User Session Count triggers an alert based on the
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ELAPSED_TIME_PER_CALL and DB_TIME_WAITING metrics collection per minute.

C. Database Time Spent Waiting(%) triggers an alert when more than 30% of the DB time
per second for three consecutive seconds is spent on lock waits.

D. Average Users Waiting Counts triggers an alert when the count is more than 30 for 3
consecutive 1 minute intervals and is related to the log file sync wait event.

Answer: D

Question No : 38

A batch workload that historically completed in the maintenance window between 10:00 PM
and midnight is currently showing poor performance and completing at 2 AM. To help in the
diagnosis of the performance degradation, the senior DBA in your organization asks you to
execute the awrddrpt.sqgl script to produce a Compare Periods report. Which two
statements are true about the report produced by this script? (Choose two.)

A. It is refreshed automatically based on the moving window baseline.

B. It compares details between any two selected time periods of the same duration.

C. It normalizes the statistics by the amount of time spent on the database for each time
period.

D. It compares details between two consecutive time periods of the same or different
durations and is refreshed every 60 minutes.

Answer: B,C

Question No : 39

View Exhibitl and examine a portion of Active Session History(ASH) report.
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DB Objects

With respect to Application, Cluster, User I'0 and buffer busy waits anly.

Obiect Name (Tpe)| Tabiesoace |

77025 9252 buffer nmvwarts 92. 52 spc S2CT (TABLE) [rBssPC
* Back to Top Objects/Files/L atches '
Back to Top

Top DB Files

Mo data exlsts for this secdon of the report.
Back to Top ObjectsiFiles/l atches

Back to Top

Top Latches

No data exists for this section of the report.
Back to Top ObjectsiFiles/lL atches

Back to Top
Activity Over Time

Analysis period is divided into smaller time slots

Topdevents are reported in each of those slots

'Slot Count' shows the number of ASH samplesin that slot

‘Event Count' shows the number of ASH samples waiting for that event in that slot
"% Event' is 'Event Count over all ASH samples in the analysis period

Siot Tim (Duraion) | ot Cours

17:1300 (1.0 min) | & [CPU = Wait for CPU |
17:1400 (1.0 rnln} EE.A gmg; busy waits 594}; 24.5?'
\CPU + Watt for CPU 2] 134
lpg fi file sync = 7[ o029
7500 (1.0min) | 1,752 mnmmm 3 1623 6785
- \CPU + Watt for CPU | 61 255
m pns || 46 | 192

View Exhibit2 to examine the tablespaces.

TABLESFACE_NAME STATUS CONTENTZ EXTENT_MAN ALLOCATIO SEGMEN
5Y5STEM OMLINE PERMANENT LOCAL SY5STEM MANLAL
SYSAUX COMLIME FPERMANERT LOCAL 5Y5TEM AUTO
UNDOTBS1 OMLINE UNDO LOCAL 5Y5TEM MANLAL
TEMF CMLIME TEMPORARY LOCAL UMIFORM MANLUAL
USERS OMLINE PERMANERT LOCAL 5Y5TEM AUTO
EXAMPLE COMLINE PERMANERT LOCAL SYSTEM AUTO
SOEINDEX CMLIME FPERMANERT LOCAL UNIFORM AUTO
S0E COMLIME PERMANERT LOCAL UNIFORM AUTO
TESSPC CMLINE PERMANERT LOCAL SYSTEM MANUAL

Which action would you suggest after analyzing the output?
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A. Increase the log buffer size.

B. Rebuild indexes on SPCT table.

C. Decreasing the number of free lists in segment SPCT.

D. Move SPCT table to a different tablespace that is locally managed with automatic
segment space management.

Answer: D

Question No : 40

View the Exhibit and examine a portion of the output obtained from the following query:

STAT TD 3TAT NAME VALUE
3649082374 DE time 61021783
2743282437 DE CPU 2890625
4157170854 hackground elapsed time 42472524
2451517898 background cpu time 2796875
4127043053 sequence load elapsed time 0
1431595225 parse time elapsed 10383653

372226525 hard parse elapsed time 10450331
2821698184 =gl execute elapsed time 50353110
1990024365 connection management call elapsed B55204

time

SQL> SELECT * FROM v$sys_time_model,

Select three correct interpretations of the time model statistics. (Choose three.)

A. DB time includes the wait time of all the nonidle and idle user sessions.

B. SQL execute elapsed time includes the time spent in performing fetches of query
results.

C. DB CPU includes the CPU time spent on database user-level calls and background
CPU time.

D. SQL execute elapsed time includes components of the hard parse elapsed time like bind
elapsed time.

E. DB time includes the connection management call elapsed time excluding the
background process time.

Answer: B,D,E
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Question No : 41

You are working on an online transaction processing (OLTP) system. The CUST table in
the SH schema was populated by direct load and after that it has gone through a lot of
updates and deletions. The statistics for the CUST and SALES tables were updated
recently.View the Exhibit and examine the query plan.The query is performing a lot of I1/0
for a query that fetches only 168 rows. To investigate further, you queried the
ALL_TABLES view to find out PCTUSED, PCTFREE, and the number of rows in the CUST
table, as given below:

SQL> SELECT table_name ,blocks, pct_used, pct_free, num_rows
2 FROM all_tables

3* WHERE table_name = 'CUST";

TABLE_NAME BLOCKS PCT_USED PCT_FREE NUM_ROWS
CUST 13768 80 111060

What would you recommend to reduce the 1/0?

5QL> SELECT time id, gquantity sold, amount sold
FRCM sales s, cust c
WHERE c.cust_id = s.cust_id AND cust_first_name = 'Jimmy'
CRDER BY time id

168 rows selected.

Execution Plan

Plan hash value: 980033780

| Id | Operation | Name | Rows | Bytes |TempSpc| Cost (%CPU)| Time | Pstart| Pstop |
I 0 | SELECT STATEMENT I | 11120 | 358K| | 4344 {1)] 00:00:53 | ] |
I 1 | SORT CORDER BY I | 11120 | 35BK| 1064K| 4344 {1)] 00:00:53 | | |
I* 2| HASH JOIN I | 11120 | 358K| | 4243 {1)] 00:00:51 | | |
[* 3] TABLE ACCESS FULL | CUST | 85 | 1020 | | 3738 (1) ] 00:00:45 | | |
I 4 | PARTITION RANGE ALL| I 918K 18M| | 498 (4)| 00:00:06 | 1] 28 |
I 5 TABLE ACCESS FULL | SALES | 918K 18M| | 498 (4) | 00:00:06 | 1] 28 |

Predicate Information (identified by operation id):

2 - access ("C"."CUST_ID"="3"."CUST_ID")
3 - filter("CUST_FIRST NAME"='Jimmy')

Statistics

14863 recursive calls
0 db block gets
18448 consistent gets
13688 physical reads
0 redo =size
4716 bytes sent via SQL*Net to client
541 bytes received via SQL*Net from client
13 S5QL*Net roundtrips to/from client
137 sorts (memory)
0 sorts (disk)
168 rows processed
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. reorganizing the table to use fewer blocks

. rebuilding the index on the CUST_FIRST_NAME column

. increasing the value for the PCTFREE attribute for the CUST table

. increasing the value for the PGA_AGGREGATE_TARGET initialization parameter

OO w>

Answer: A

Question No : 42

You have the automatic optimizer statistics gathering enabled for a 24x7 database as part
of the automatic maintenance task. Because the automatic optimizer statistics collection
runs during maintenance window(in the night), the statistics on tables that are significantly
modified throughout the day becomes stale. This leads to poor query performance on these
tables and you want to minimize the

overhead in statistics collection. Identify a solution to this problem.

A. Change the STALE_PERCENT preference to zero for the tables.

B. Set the OPTIMIZER_USE_PENDING parameter statistics to TRUE.

C. Set the OPTIMIZER_DYNAMIC_SAMPLING parameter to zero during day time.

D. Gather statistics on the table when the tables have a representative number of rows,
and then lock the statistics.

Answer: D

Question No : 43

View the Exhibit.You decide to quickly configure the adaptive threshold. What would
happen to the existing metric thresholds shown in the Exhibit?

Baseline Metric Thresholds
Threshold Configuration |

Quick Configuration )

View ;iMetrlcs with Thresholds v|

Alerts
(Last 7 Edit

Category/Hame Days) AWR Baseline Threshold Type Adaptive Thresholds
¥ Workload Volume Metrics 0
Cumulative Logons (per second 0 Fixed Values ﬁs/”?
Current Open Cursors Count 0 Fixed Values :s/;
/0 Requests (per second 0 SYSTEM_MOVING_WINDOW Significance Level + rs’/”p
Number of Transactions (per secord) 0 Fixed Values f
User Calls (per second 0 SYSTEM_MOVING_WINDOW Significance Level v /
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A. It would be overwritten.

B. It would remain in effect.

C. Only the thresholds set with the SYSTEM_MOVING_WINDOW baseline will remain in
effect.

D. Only the thresholds set with baselines other than the SYSTEM_MOVING_WINDOW
baseline will remain in effect.

Answer: A

Question No : 44

You work as a DBA for a company and you have the responsibility of managing one of its
online transaction processing (OLTP) systems. The database encountered performance-
related problems and you generated an Automatic Workload Repository (AWR) report to

investigate it further. View the Exhibits and examine the AWR report.

Top 5 Timed Foreground Events

"~ evem | waits | ime(s) | Avg wait (m) | % 05 ume | v ciass

DB CPU S84 25.08

licrary cache: mutex X | 14,721 1 5 3.53 |Concurrency
|latch: =hared pool 1,153 39 43 278 |Concurrency
{curzor: pin & waiton X| 3,777 ol 13 250 |Concurrency
[log file =ync 672 17 25 0.23 |Commit
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Time Model Statistics

= Totaltime in databaze user-callz (DB Time): 2008.52
& GSiatistics including the word "background” measure backgreund process time, and =o do not contribute to the DB time statistic
= QOrdcred by % or DB time doac, Stotiztic namc

|sgl exscute clapsed fime [ 173194 2823
0B cru [ ssani| 29.08
|parse time elapsed | 53372 2657
|nard parse elapsed tine [ #1843 2073
|cunnectiun management call slapsed time | 33.26 | 186
|PLisaL compilation 2apsed time [ 108 053
|.Ja'.fa execution elapzed tims | 8.01 | 040
Ifailel:l parze slapsed dims | £.20 | 0.28
|PL/s0L execution elapsed time | 366 | 018
|hard parze (sharing ecriteria) elapsed time | 154 | 010
|nard parze (kind mizmateh) slapsed tims | 122 0.07
|sequence load elapsed time | 0.1 | 002
repeated bind elapsed time | 0.05 | 0.00
|28 time | 2008.48 |

!bacl-:gtrclunl:l elapzed ime | 32.08 |

|backgruund cpu time | 478 |

Load Profile

DB Time{s): | 3.8| 1256 0.01 | 0.00
DB CPUz): | 4.4 3.7 0.00 | 0.00
Redo size: | 6,062.3 | 20,190.1 | |
|Logical reads: | 59825 | 19,924 3 | |
Block changes: | 252 | 849 | |
Physzical reads: | 27732| 9,252.7 | |
|F'I|3.l:s-iuu| wiilsz. | 29 | 9.7 | |
Uszer calls: | 1,263.4 | 4,207.7 | |
Parzes: | S06.6 | 1,687.3 | |
|Han:| parses: | 53.3| 1775 | |
\Wis MB processed: | 7266469 | 2,420,040.5 | |
|L|:|gl:|n5: | 121 | 3.E—| |
[Frerutas- | =171 | 17088 | |
\Rollbacks: | 0.1 0.3| |
|Tran33n:ti|:rn i | 0.3 | | |
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Dictionary Cache Stats

h= number of cache entries being used

:r::_aa.'r_ba:'t ol | @523 | 1] | | vy |
[c_datsbase finks | 1074 036 || a| | o 0
fic_ghobal_ids | 5413 247 | o | o 13
:r:c histogram_dsts | T7 65 212 | }l | 3| 57
Ho_nistogram_deis | 182,045 2318 | 0| | 0| 1014
fdc_cbj=ct_grants | 44042 47| a| | o 5=
c_objects | EEERE 230 | o | o EES
bic. profiles | 545 213 | o | a|

:r::_r:ﬂ!t-a:. ._sEgmants | 230 o | 1] | | (1] | I8
fic_segmants | 23208 1572 | a| | 5| 73
Hic_seguences | 25 10000 | o | 25 o
fic. tablespaces | 2EE 024 || o | a| 5
I3z pzers | 179,287 035 | 0| | 0| 20
I;l:\nal-:abanase name | 527 | Dt | a | | a |

Ikﬂis ubheap_object | 18T 3048 | 1} | | o | 0
pouLsLannbitng_sberls | 13 5474 | o | o|

Back to Top

Library Cache Activity

® Pt Wisses” should be veny low

oDy | 1832 | 138 | 3673 | 155 21| 0
[cLusTER | 2781 | 151 1530 | 314 a| 0
[noEs | 347 [  35sa a7 | 2580 1) 0
[1ava DaTA | 4|  TEoa 873 | 2Es }i 0
5oL aREA | 340330 | za7e| BO2BE3 | 1278 142 || 5231
TASLESROCEDURE| 45483 | 243 | 191059 | ass| san2| 0
TRIZZER | 23 | oz 5523 | ozs | o 0

What could be the problem in this database?

A. Java pool is not configured.

B. The CPU in the system is slow.

C. The shared pool size is inadequate.

D. The database buffer cache is inadequate.

E. The OPEN_CURSORS parameter is set to a small value.

Answer: C

Question No : 45
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After running SQL Performance Analyzer (SPA), you observe a few regressed SQL
statements in the SPA output. Identify the two actions that you would suggest for these
regressed SQL statements. (Choose two.)

A. Running SQL Access Advisor

B. Adding them to SQL Plan Baseline

C. Submitting them to SQL Tuning Advisor

D. Running Automatic Database Diagnostic Monitor (ADDM)

Answer: B,C

Question No : 46

The Automatic Workload Repository (AWR) snapshot interval is set to 1 hour. A user of
your database notifies you that the system was slow between 10:00 PM and 10:10 PM, but
the Automatic Database Diagnostic Management (ADDM) analysis for the time period
between 10:00 PM and 11:00 PM does not show this performance problem.What would
you suggest to analyze this performance problem for the user?

A. SQL Tuning Advisor

B. SQL Performance Analyzer
C. Active Session History report
D. AWR Compare Periods report

Answer: C

Question No : 47

On examining the Automatic Workload Repository (AWR) report, you find that log file sync
appears among the top 5 wait events.On further investigation, you notice that the average
time waited for this event is low, but the number of waits are high.What does this imply?

A. DBWR is slow.

B. LGWR is slow due to slow I/O.

C. Redo log buffer size is insufficient.

D. The application might be committing frequently.

Answer: D
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Question No : 48

View the Exhibit and examine the plans in the SQL plan baseline.You observe that the last
two SELECT statements (outlined in red and blue) are identical, but have two different
plans. Also, the second plan (in blue) is not being used by the optimizer.Which two steps
do you perform to ensure that the optimizer uses the second plan (in blue) if the plan is
more efficient? (Choose two.)

|Enabled|Accepted|F‘u¢ed|Auto Purge|Created Last Modified

NHERE wES YES NO YES Jul 20, 2008  Jul 20, 2008
5:12:07 PM  5:12:07 PM

YES YES NO YES Jul 20, 2008 Jul 20, 2008
3:12:06 FM  35:12.00 FM

YES YES NO  YES Jul 20, 2008 Jul 20, 2008
5:15:31 PM  5:15:31 PM

'YES NO NO YES Jul 20, 2008  Jul 20, 2008
5:17:33 PM  5:17:33 PM

@ TIP The table will display maximum of 2000 rows. Use search criteria to get the desired results.

A. Mark the second plan (in blue) as fixed.

B. Use SQL Tuning Advisor to tune the plan.

C. Use SQL Access Advisor to tune the plan.

D. Use the DBMS_SPM.EVOLVE_SQL_PLAN_BASELINE function to evolve the plan.

Answer: B,D

Question No : 49

The users in your online transaction processing (OLTP) environment complain that the
guery response time has increased considerably. You checked the Program Global Area
(PGA)- related information in the AWR report to investigate it further.

View the Exhibit named PGAHIT and note the PGA cache-hit percentage.

PGA Aggr Summary

& PG4 cache hit % - percentage of W A (VorkArea) data procezssd only in-memory
PGA Cache Hit % | VIVA MB Processed | Extra WA M3 Read/Written
25 99 15,988 | 45 258
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View the Exhibit named PGAADV and analyze the content.

PGA Memory Advisory

& Yhen uging Aute Memory Mgmt. minimaly cheoze a pga_aggregate_targst value where Eztd PGA Overalioc Countiz O
10 0.50 1587274 3222239 33.00 854 504221
15 0.75 1 32,222.38 33.00 854 04221
20 1.00 1 41.00 854 404,893
24 1.20 1 41.00 854 404,853
28 1.40 il 21.00 854 404,853
32 1.60 15 a1.00 854 404,853
36 1.80 1597274 2272828 41.00 854 404,853
40 2.00 1587274 22728289 41.00 854 404,883
60 3.00 1 22723829 241.00 854 404,853
20 4.00 1 2272828 21.00 854 404,883
120 £.00 1587274 22 687.95 41.00 348 404,271
160 8.00 15 57274 732474 85.00 o 243740

If you want to increase the size of PGA, you have sufficient memory available in the
system. What would be the correct decision?

A. Double the size of PGA.

B. Increase the size of PGA to 120 MB.

C. Increase the size of PGA to 160 MB or more.

D. Leave the PGA at its current size and investigate other possible causes.

Answer: C

Question No : 50

Examine the following information from the AWR report:

Top 5 Timed Events

~~ ~ ~ ~~ % Total

Event Waits Time (s) Call Time

CPU time 559 88.80

log file parallel write 2,181 28 4.42

SQL*Net more data from client 516,611 27 4.24
db file parallel write 13,383 13 2.04

db file sequential read 563 2 .27

www.ensurepass.com



Dumps with VCE and PDF (+Free VCE Software)
Which could cause waits on the db file sequential read event?
A. too many full table scans
B. too large a database buffer cache
C. too many waits occurring while reading multiple blocks synchronously

D. too many index range scans occurring which refers to blocks not in the database buffer
cache

Answer: D

Question No : 51

You work as a DBA in ABC Corp. You are working on an online transaction processing
(OLTP) database. The database size has grown to 100 GB. The database will support new
applications and more users will be added. Presently, the database uses normal file system
storage. Before the new applications are added, you want to move the storage to RAID.
You are in consultation with the OS Administrator for finalizing the RAID option for the
storage.

You have the following requirements for the database:
1) Less mean time to recover (MTTR)

2) Striped for performance

3) Mirrored for safety

Which RAID option would you recommend?

A. RAID level 0

B. RAID level 1

C. RAID level 0 over 1(1+0)
D. RAID level 1 over 0(0+1)

Answer: C

Question No : 52

You work as a DBA and have the responsibility of managing a large online transaction
processing (OLTP) system. You used three queries to check the database performance as
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shown in the Exhibit.View the Exhibit and analyze the output.

30L> B3ELECT (1-{(phv.value-phyd.value) / (cur.wvalue + con.value))) * 100
Z2 M"™Cache Hit ratio®

FEOM visysstat cur, visysstat con, visysstat phy, wisysstat phyd

WHERE cur.name = 'db block gets'

AND con.hatne = 'Consistent gets!

AND phv.nate = 'physical reads!

AND phyd.name = 'physical reads direcc!':

o I O O, Y i )

Cache Hit Ratio

2QL> SELECT ewent, total walts, total timeouts, time walted, average walt
2 FROM visystem event
3 TWHERE ewvent='buffer busy waits';

EVENT TOTAL WATITS TOTAL TIMEOUTZ TIME WAITED AVERAGE WAIT

buffer busy waits 6528 1557 549700 15.04872974

data hlock 1961113 18370278

What conclusion can you draw from this?

A. There are many physical I/Os happening.

B. There are many full table scans happening.

C. The data blocks are aging out of the buffer cache very fast.

D. There are many cursors trying to access the same data blocks.

E. The DBWn processes are not freeing sufficient buffers to meet the demand.

Answer: D

Question No : 53

Your company wants to migrate a single instance Oracle 11g Release 1 database to a
RAC environment. The database supports middle-tier applications using connection
pooling for connecting to database.

Being a part of the performance management team, you want to test the performance of
the SQL statements and the peak workload of the applications in the new environment
before upgrading the production system.
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Given below are some of the steps in random order to accomplish the task:
1) Capture the real workload on the existing system.
2) Create a SQL Tuning Set (STS) for the statements executed by the application.

3) Transport STS on the test environment and use SQL Tuning Advisor to compare the
before and after performance.

4) Replay the workload on the test environment.
5) Analyze the divergence after replay.

6) Use Automatic Workload Repository (AWR) to capture the information for top SQL on
the existing system.

7) Transport STS on the test environment and use SQL Performance Analyzer to compare
the before and after performance.

Identify the correct steps required to perform the test.

A. 2 and 3 only

B. 6 and 7 only

C. 1,4, and 5 only
D. 2, 3, and 5 only
E. 2, 3,4, and 5 only

Answer: C

Question No : 54

View the Exhibit and examine the partial output from the query on the v$file_histogram
view: Which statement correctly interprets the output displayed in the Exhibit?
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S0L> SELECT * FROM vifile histogram:

FILE# SINGLEELERDTIM MILLI 3INGLEELERDS

1 1 49
1 & 53
1 1 135
1 g 495
1 16 1353
1 da 14949
1 63 1734
1 125 a7e
1 256 =1
1 51E 2,

A. The database waited 58 times in a time interval of two milliseconds for FILE# 1.

B. The database experienced 58 waits of two milliseconds duration each for FILE# 1.

C. The database performed 58 synchronous single block reads in a time interval of two
milliseconds for FILE# 1.

D. The database experienced 58 waits of duration less than two milliseconds each that are
not included in any smaller bucket.

Answer: D

Question No : 55

View the Exhibit.You want to set the threshold for the number of transactions (per
second)metric with the threshold type as significance level. Which baseline would you
choose to make the threshold adaptive?

Edit )| Wiew )| Delete .Act\gﬂs:.SChEdLllﬂ Statistics Computation v-; Co )
Statistics

Select Name Type Valid| Computed Last Time Computed |Start Time End Time
® |LAST NIGHT STATIC Yes Yes Jun 19, 2008 12:26:53 Jun 15, 2008 10:00:06 Jun 19, 2008 8:00:50
FM AM AM
O GENERATED No Mo Jun 26, 2008 1:57:52 Jun 26, 2008 1:57:52
FM FM
(9] GENERATED Yes Mo Jun 30, 2008 10:00:06 Jul 1, 2008 2:00:13
FM
(] GEMERATED Yes MNo Jul 7, 2008 10:00:38  Jul 8, 2008 2:00:44
FM AM
(&) GENERATED Yes Mo Jul 14, 2008 10:00:06 Jul 15, 2008 2:00:13
15.02:00 PM AM
O |SYSTEM MOVING WINDOW [MOVING_WINDOW (8 Yes Yes Jul 13, 2008 2:00:00  3y| 7, 2008 7:00:33 PMJul 15, 2008 6:00:40
Days) PM PM
€ STATIC Yes Yes Jul 15, 2008 4:12:14  Jy| 9, 2008 4:00:45 PM Jul 10, 2008 2:00:20
PM FM
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A.LAST NIGHT
B. THU_SECTION

C. SYSTEM_MOVING_WINDOW
D. MONDAY_1_2008-07-15.02:00

Answer: C

Question No : 56

You work as a DBA for a company and as a performance improvement measure, you
implemented the result cache in your database.

View the Exhibit named SETTING and note the result cache settings.

30L> SHOW PARAMETER RESULT

HAME TIFE VALUE
client result cache lag big integer 3000
client result_cache size big integer u]
result cache max_result integer 5
result cache wax size big integer 1376K
result cache mwode string FORCE

result cache remote expiration integer ]

Many users in the company state that performance has improved on the queries they use
but some users complain that they have not got any performance benefit on the queries
they use.

You checked all the queries they use and the following is one of them:
SQL> SELECT slInoq.currval as "SLNO", prod_id, pdname,
2 cust_name FROM sales WHERE s|_date < sysdate;

View the Exhibit named TEST and examine the testing performed to check this.
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SQL> EXECUTE DEM3 REZULT CACHE.FLUSH;

PT./S0T procedure succeaafully ~mmpleted.

SQL> EXECUTE DEMS RESULT CACHE.MEMORY REFORT;
Eesult Zache Memory Report
[Paraneters]

Elock Zize = 1K bytes

Maxirmum Cache ZSize = 1376K bytes (1376 blocks)

E2E bytes (68 blocks,

Maxirum Result Iize
[Memory]
Total Memory = 5132 bhytes [0.024% of the Zhared Pool]
. Fixed Memory = 5132 bytes [0.004% of the Zhared Pool]
. Dynamic Memory = 0 hytes [J.000% of the Shared Pool]

PL/30L procedure successfully zompleted.

SOL> SELECT slnog.currval as "ILNOTY, prod id, pdname, cust_hame
2 FROM =ales
3 TWHERE =1 date < =y=zdate;

SQL> EXECUTE DEM3 REZULT CACHE.MEMORY REFPORT;

Eesult Zache Memor y Report

[Paranetera]

Elock Zize 1K hytes

Maximun Cache Z3ize = 1376K bytes (1376 blocks)

Maximum Result Size 63K bytes (68 blocks,

[Memory]

Total Memory = 5132 hytes [0.0J4% of the Shared Pool]
. Fixed Memory = 5132 bytes [0.004% of the Shared Pool]
. Dynamic Memory = 0 bytes [1.000% of the Zhared Pool]

Why is the result cache not used? (Choose all that apply.)

A. because the query uses SYSDATE

B. because the query uses an alias for a column

C. because the query uses the SLNOQ.CURRVAL sequence

D. because the CLIENT_RESULT_CACHE_SIZE parameter is setto O

Answer: A,C

Question No : 57

You are working on a database that was upgraded to Oracle Database 11g from Oracle
Database 9i. An ADDM finding in this database says that the shared pool is inadequately
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